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Quiz Date: 4t May 2020

Directions (1-15): In each of the following questions two equations are given. Solve the
equations and give answer
.8x*+6x=5
Q1. L 12y*-22y +8=0
(a)Ifx<y
D) Ifx<y
(q)Ifx>y
(dIfx=zy
(e) If x = y or relationship between x and y cannot be established

.18x*+18x+4=0
Q2. I.12y* + 29y + 14 =0
(a)Ifx<y
D) Ifx<y
(c)Ifx>y
(d)Ifx=y
(e) If x = y or relationship between x and y cannot be established

Lx*-16=0
Q3. IL.y*-9y+20=0
(a)Ifx<y
(b)Ifx<y
(c)Ifx>y
(d)Ifx=y
(e) If x = y or relationship between x and y cannot be established

Lx*-32=112
Q4. Ly-Vied=0
(a)Ifx<y
(b)Ifx<y
(c)Ifx>y
(d)Ifx=y
(e) If x = y or relationship between x and y cannot be established

L2x*+11x+14=0
Qs. IL4y’+12y+9=0
(a)Ifx<y
(D) Ifx<y
(lfx>y
(dIfxzy
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(e) If x = y or relationship between x and y cannot be established

LVx—2=9

VX
Q6_Il.y3 — ﬁg =0
(a)ifx<y
(b)ifx>y
(0)ifx<y
(d)ifx=y
(e) if x =y or relationship between x and y cannot be determined

[.3x -2y =10

Q7 I.L5x —6y =6

(a)ifx<y
(b)ifx>y
(g)ifx<y
(d)ifx=y
(e) if x =y or relationship between x and y cannot be determined
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Lx?+x—-12=0
Q8 Il.y2—5y+6= 0
(a)ifx<y
(b)ifx>y
(q)ifx<y
(d)ifx=y
(e) if x =y or relationship between x and y cannot be determined

Lx*+9x+18=0
Q9. 1L y* — 13y +40 =0
(a)ifx<y
(b)ifx>y
(q)ifx<y
(d)ifx=y
e) if x = y or relationship between x and y cannot be determined
y y

Adda247.com


https://www.adda247.com/product-onlineliveclasses/3540/sbi-po-ka-maha-pack-online-live-classes-test-series-video-courses-ebooks-in-english-medium?utm_source=bankersadda&utm_medium=article

Bankersadda.com Quantitative Aptitude Quiz for SBI PO Pre 2020 Adda247.com

LVx +6=+121-+36
Q10. ILy* + 112 = 473
(a)ifx<y
(b)ifx>y
(g)ifx<y
(d)ifxzy
(e) if x =y or relationship between x and y cannot be determined

Lx?—24x+144=0
Q11. IL y:—26y +169 =0
(a)ifx<y
(b)ifx>y
(c)ifx=<y
(d)ifx=y
(e) if x =y or no relationship can be established between x and y.

L2x*+3x—20=0
(a)ifx<y
(b)ifx>y
(c)ifx=<y
(d)ifx=y
(e) if x =y or no relationship can be established between x and y.

L6x%2+77x+121=10
Q13. ILy?+9y—-22=0
(a)ifx<y
(b)ifx>y
(0)ifx<y
(d)ifx=y
(e) if x =y or no relationship can be established between x and y.

Lx*—6x=7
(a)ifx<y
(b)ifx>y
()ifx<y
(d)ifx=zy
(e) if x =y or no relationship can be established between x and y.

L10x* —7x+1=0
Q15. I.35y2 —12y +1=0
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(a)ifx<y
(b ifx>y
(0)ifx<y
(d)ifxzy
(e) if x =y or no relationship can be established between x and y.

Solutions

S1. Ans.(b)
Sol.
L8x" +6x-5=0
8x*+10x-4x-5=0
2x (4x+5)-1(4x+5)=0
(4x+5) (2x-1)=0
-5 1
X=—,-
42
IL 12y*-22y+8=0
12y* - 16y -6y +8=0
4y (3y-4)-2(3y-4)=0
(By-4)(4y-2)=0
4 2

F=—or-—
> 3 4

yzx

S2. Ans.(d)
Sol.
[.18x* +18x+4=0
18x° + 12x+ 6x+4=0
6x(3x+2)+2(3x+2)=0
(Bx+2)(ex+2)=0

IL 12y* + 29y + 14=0
12y° + 21y + 8y + 14=0
3y (dy+7)+2 (4y+7) =0
(4y+ 7} (3y+2) =0

=7 =2
y = 2 or 3
Xzy

S3. Ans.(b)

Sol.
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IL.x2-16=0
X=14

ILy*-9y +20=0
y? -5y -4y +20=0
y(y-5)-4(y-5)=0

(y-5) (- 4)= 0
y=5or4
V=X
TEST SERIES
Bilingual
PRE + MAINS
135+ TOTAL TESTS | eBOOKS
S4. Ans.(a)
Sol.
Lx* =144
x=x12
ILy= /169
y=13
}F =X
S5. Ans.(a)
Sol.

L2x*+11x+14=0
2x% + Tx + 4x+ 14 =0
X(2x+7)+2 (2x+7) =0

—7
x=—or—2
2

IL4y* + 12y +9=0
4y* + 6y +6y +9=0
2y (2y+3)+3(2y+3)=0
(2y+3)(2y+3)=0
3 -3

P = — or—
Y 2 2

¥=X

S6. Ans.(e)
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Sol.
LV X Vx =v6 =2 x =6

1
3 357 1
ILy*=6:=y=(62) =62=6
XxX=y

S7. Ans.(b)

Sol.
On (1)x3 - (ii)
9x - 6y =30
—bx+6y=-6
dx = 24=x=6
y=4 x>y

S8. Ans.(e)
Sol.

Lx2+x—12=0
x2+4x—3x—12=0
x(x+4)—3(x+4)=0
(x+4)(x—3)=0
x=—43
ILy*—5y+6=0
yi—3y—2y+6=0
yiy—3)-2(v—-3)=0
(y-=3)y—-2)=0
yv=32

no relation

S9. Ans.(a)
Sol.
Lx*+6x+3x+18=0
x(x+6)+3(x+6)=0
(x+6)(x+3)=0
x=-—6,—3
ILy>—8y—5y+40=0
y(y—8) —5(r—-8)=0
(y—8)(y—-5=0
y =85
X<y

S10. Ans.(d)
Sol.
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LVx+6=11-6
=Vx+6=5
x+6=25
x=19

ILy? + 112 = 473
y? =473 — 112 = 361
y==19
Xzy

S11. Ans.(a)

Sol.
Lx?—24x+144=0
or,x* —12x —12x + 144 =0
or,x(x —12)—12(x —12) =0
or,(x —12)* =0
Sx =12

IL y? — 26y + 169 = 0

or,y? — 13y — 13y + 169 =0
or,y(y—13) —13(y—13) =0
or,(y—13)* =10

Sy =13

Hence, x <y

S12. Ans.(d)

Sol.
2y +3x—20=0
Or,2x?+8x—5x—20=0
or,2x(x+4)—5(x+4)=10
or,(2x = 5)(x+4)=0

5
or, X =z, —4

IL 2y% + 19y + 44 = 0
Or,2y*+ 11y +8y+44 =10

or,v(2y +11) +4Q2y+11) =10

or,(y+4)2y+11)=10
y=—4,—% Hence,x =z y

S13. Ans.(e)
Sol.
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L6x2+77x+121=0

or,6x2 +66x + 11x+ 121 =10
or,6x(x +11)+11(x+11) =0
or,(6x +11)(x+11) =0

11
or,x = —?,—11

ILy?+9y—22=0

or,y* +1ly—2y—22=0
or,v(y +11) — 2(y + 11)
or,(y —2)(y+11) =0
or,y=2,—11

Hence, no relationship can be
established between x and y.
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S14. Ans.(b)
Sol.
Lx*—6x=7

or,x2—6x—7=0

or,x* —Tx+x—-7=0
or,x(x—7+1(x—-7)=0
or,(x+1D(x—7)=0
or,x=-1,7

IL2y*+13y+15=10
or,2y* + 10y +3y+15=0
or,2y(y +5)+3(yv+5)=0
or, 2y +3)(y+5) =0
or,y = —Z—',—S

Hence, x>y

S15. Ans.(d)
Sol.
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10x*—7x+1=0

or,10x2 —5x—2x+1=0

or,bx(2x—1)—-1(2x—-1)=0

or,(bx —1)(2x—1)=0

or,x ===

572

.35y —12y+1=10

or,35y2 —7y—5y+1=0

or,7y(5y —1)—1(5y—-1) =10

or,(7y —1)(5y—-1)=0
oyt

or,y =<,

Hence,x = y
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